
 
Tutor-USA.com Worksheet 

 
Name: 

Algebra – Polynomial Functions Date:                          Period:                     Score: 
   

 ©TUTOR-USA.COM ALL RIGHTS RESERVED  ALGEBRA – POLYNOMIAL FUNCTIONS 

Find the Exact Roots. 

ଷݔ2 (1 − ଶݔ3 − ݔ11 + 6 = 0 

 

 

ସݔ (2 − ଷݔ16 + ଶݔ86 − ݔ176 + 105 = 0 

 
 

 

ସݔ (3 − ଷݔ − ଶݔ19 + ݔ49 − 30 = 0 

 

 

ସݔ4 (4 + ଷݔ8 − ଶݔ7 − ݔ21 − 9 = 0 

 
 

 

ସݔ (5 − ଷݔ4 + ଶݔ6 − ݔ4 + 1 = 0 
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ହݔ8 (6 − ସݔ12 + ଷݔ14 − ଶݔ13 + ݔ6 − 1 = 0 

 
 

 

ସݔ (7 − ଷݔ5 − ଶݔ3 + ݔ17 − 10 = 0 

 

 

 

Solve for ࣂ; ࣂ  < ૛࣊ 

8) 4 sin ߠ − 12 sin ߠ cos ߠ − 7 cos ߠ − 9 sin ߠ + 5ଶଶସ = 0 

 

 

 

9) 3 tan ߠ sec ߠ + 3 sec ߠ − 4 tan ߠ − 4 = 0ଶଶ  
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Answer Key 

1) ൛−2, 3, 1 2ൗ ൟ 

2) ሼ1, 3, 5, 7ሽ 

3) ሼ1, 2, 3, −5ሽ 

4) ቄ− 3 2ൗ , 3 2ൗ , ଵ±√ହଶ ቅ 

5) ሼ1, 1, 1, 1ሽ 

6) ൛1 2ൗ , 1 2ൗ , 1 2ൗ , ±√−1ൟ 

7) ሼ1, 1, −2, 5ሽ 

8) ቄߨ 6ൗ , ߨ5 6ൗ , ߨ7 6ൗ , ߨ11 6ൗ , ߨ3 6ൗ ቅ 

9) ቄߨ 6ൗ , ߨ5 6ൗ , ߨ7 6ൗ , ߨ11 6ൗ , ߨ3 4ൗ , ߨ7 4ൗ ቅ 

 
 

 

 


